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Exam Date 01/12/2021
Exam Time : 9:00 AM - 10:30 AM
Subject [Constable GD 2021

Section : Part A General Intelligence and Reasoning

Q.1 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:
I. Some tablets are smartphones.
1l. All smartphones are mobile phones.

Conclusions:
|I. Some mobile phones are tablets.
1. Some mobile phones are smartphones.

Ans X 1. Neither conclusion | nor Il follows.
25 2. Only conclusion Il follows.
25 3. Only conclusion | follows.

" 4. Both conclusions | and Il follow.

Question ID : 65497832421
Status : Answered
Chosen Option : 4
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Q.2 Apaper sheet is folded in a particular manner and several punches are made. When unfolded the paper sheet looks like
the question figure. From the given options. select the figure that follows the manner in which the paper is folded and

punched.

Question figure
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Question ID : 65497832424

Status : Answered

Chosen Option : 2

Q.3 Select the option that is related to the fourth number in the same way as the first
number is related to the second number and the fifth number is related to the sixth
number.

195:15::?:19::273: 21
Ans X 1.280
o 2.247

X 3.311
X 4.252

Question ID : 65497832404

Status : Answered

Chosen Option : 2

Q.4 Study the given pattern carefully and select the number that can replace the question
mark (?) in it.

567
879
189 265 ?

Ans o 1.424
< 2.341
#5 3.395
< 4.409

Question ID : 65497832422

Status : Answered

Chosen Option : 1
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Q.5 Select the number from among the given options that can replace the question mark
(?) in the following series.

7,7,10.5, 21, 52.5, ?
Ans 4 1.157.5

< 2.105

75 3.163.5

X 4.145

Question ID : 65497832414
Status : Answered
Chosen Option : 1

Q.6 Six poets, A, B, C, D, E and F, are sitting opposite to each other in a circle, facing
towards the centre. A is opposite to E. F is adjacent to E. A is adjacent to C. B is sitting
immediate right to D. C is opposite to B. Who is 5th to the left of B?

Ans X 1.A
& 2.E
X 3.D
X 4F

Question ID :'65497832418
Status : Answered
Chosen Option : 2

Q.7 Select the option that is related to the third term in the same way as the second term is
related to the first term.

SANITY : OBTZUJ :: FOSTER : ?
Ans 1. TPGSFU

% 2. TPESFV
X 3.TQGSGU
% 4. TGPHFU

Question ID : 65497832425
Status : Answered
Chosen Option : 1

Q.8 In a certain code language, 'DEACTIVATION' is written as 'CAEDAVITNOIT". How will
'FACILITATION' be written in that language?

Ans X 1. ICFTAAILNOIT
#< 2. ICFAATILNOIT
#< 3. ICFTILAANOIT
" 4. ICAFATILNOIT

Question ID : 65497832420
Status : Answered
Chosen Option : 4
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Q.9 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.

MRV, QVZ, UZD, YDH, ?
Ans o 1. CHL
X 2.CGM
/< 3.DHE
/< 4.CFN

Question ID : 65497832416
Status : Answered
Chosen Option : 1

Q.10 Select the figure from among the given options that can replace the question mark (?) in the following series.

Ans

Question ID : 65497832411
Status : Answered
Chosen Option : 4

Q.11 Select the correct option that indicates the arrangement of the given words in the
order in which they appear in an English dictionary.

1. Tamale

2. Tamagotchi
3. Tamarind
4. Tamarack
5. Tamable

Ans X 1.1,3,4,52
X 221,345
o 3.521,43
X 4.1,524,3

Question ID : 65497832408
Status : Answered
Chosen Option : 3
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Q.12 There are two computer rooms, Lab A and Lab B. If 10 students are sent from Lab A to
Lab B, then the number of students in each room will be the same. If 26 students are
sent from Lab B to Lab A, then the number of students in Lab A will be triple the
number of students in Lab B. The number of students in Lab B is:

Ans X 1.82
X 2.78
o 3.62
X 4.98

Question ID : 65497832423
Status : Answered
Chosen Option : 3

Q.13 Arpita, Chetan, Insiya, Lohita, Manuvi and Yukti are sitting around a circular table
facing its centre. Chetan is sitting to the immediate right of Manuvi. Arpita is sitting
between Insiya and Yukti. Yukti is sitting second to the right of Manuvi. Who is sitting
between Lohita and Arpita?

Ans X 1. Manuvi
" 2. Insiya
5 3. Chetan
X 4. Yukti

Question ID : 65497832403
Status : Answered
Chosen Option : 2

Q.14 Four letter-clusters have been given, out of which three are alike in some manner and
one is different. Select the letter-cluster that is different.

Ans X 1.FLO
X 2.LRU
X 3.PVY
« 4. GMQ

Question ID : 65497832412
Status : Answered
Chosen Option : 4
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Q.15 Select the Venn diagram that best represents the relationship between the following classes.

Vehicles, Truck, Car
(V: Vehicles; C: Car; T: Truck)

Ans

x 1.

(< Q'C

Question ID : 65497832419
Status : Answered
Chosen Option : 2

Q.16 Select the number from among the given options that can replace the question mark
(?) in the following series.

3, 15, 60, 180, ?
Ans X 1.260
& 2.360
X 3.240
X 4.199

Question ID : 65497832410
Status : Answered
Chosen Option : 2

Q.17 ‘Sweater’ is related to ‘Wool’ in the same way as ‘Coin’ is related to *
Ans . 1. Metal

X 2.King
25 3. Money
X 4. Currency

Question ID : 65497832417
Status : Answered
Chosen Option : 1

Download More Papers From www.GovtJobsAlert.In




Download More Papers From www.GovtJobsAlert.In

Q.18 What will be the value of the given expression if ‘A’ means ‘+’, ‘B’ means ‘—’, ‘C’ means
‘x’ and ‘D’ means ‘+’?

12A9C(17B6)B24A(28D7) =7
Ans X 1.51

X 2.104

o 3.91

X 4.83

Question ID : 65497832405
Status : Answered
Chosen Option : 3

Q.19 Select the option in which the given figure is embedded (rotation is NOT allowed).

Ans

o 1.

x 2.

>| pef>| B

Question ID : 65497832407
Status : Answered
Chosen Option : 1

Q.20 In a certain code language, 'GINGER' is coded as '30-30' and 'RADISH' is coded as '23-
36'. How will ' TOMATO' be coded in that language?

Ans X 1.35-45
X 2.39-41
X 3.49-39
o 4.48-36

Question ID : 65497832413
Status : Answered
Chosen Option : 4
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Q.21 Select the correct mirror image of the given figure when the mirror is placed at 'AB' as shown.

A
c d ‘E
e
)
B
Ans S =
x 1. 0
a b
d ¢
X2 e
a b
b 2
" 3. 8
B d
d ]
X 4. °
a d

Question ID : 65497832415
Status : Answered
Chosen Option : 3

Q.22 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the sequence.

R_T_TU__RU_S_ST
Ans o 1. SSTURR

# 2. SRTURU

< 3.STURSR

X 4. URTSSR

Question ID : 65497832409
Status : Answered
Chosen Option : 1

Q.23 In a certain code language, ZOMBIE is written as BEIMOZ, and FLEX is written as
EFLX. How will PRODUCT be written in that language?

Ans X 1.CDPORTU
X 2. CDPORUT
& 3. CDOPRTU
X 4. CDORPTU

Question ID : 65497832426
Status : Answered
Chosen Option : 3
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Q.24 Two different positions of the same dice are shown, the six faces of which are numbered from | to 6. Select the number

that will be on the face opposite to the face having '6".

K

3
2.5
X3 4
X4 2

Question ID : 65497832406
Status : Answered
Chosen Option : 2

Q.25 If 'A + B' means 'A is the father of B', 'A @ B' means 'A is the brother of B', and 'A & B’
means 'A is the daughter of B’, then how is P related to V in the following expression?

S+P+R@Q&T&YV
Ans X 1.Son

X 2. Father-in-law
" 3. Son-in-law
#< 4. Daughter-in-law

Question ID : 65497832427
Status : Answered
Chosen Option : 3

Section : Part B General Knolwedge and General Awarengss

Q.1 ftrber qwrei & Hera § g3 W st (/i o) 31 6% 31
Ans X 1. cefeR FETdR

X 2. fawg

X33s

o 4.0

Question ID : 65497832434
Status : Answered
Chosen Option : 1

Q.2 el Goaid & A= BT I HIT TS IS gH1=al HI & = | ST Srar
1|

Ans . 1 3o (Igta)
X 2. 3T (Ushr)
25 3. WIS (Kharaj)
X 4. §3T (Hundi)

Question ID : 65497832449
Status : Answered
Chosen Option : 2
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Q.3 et & 9= & wwy P ¥ 9 #17 @ 5 78 e
Ans X 1. 9f0T (Pelvic)

X 2. BIR (Collar)

< 3.7 (Cheek)

o 4. ST (Kneecap)

Question ID : 65497832430
Status : Answered
Chosen Option : 1

Q4 YR & Gy F Frafafed uaurt § § S 91 waur W & SR IgHd gRT
IR forar o "ear 872

Ans X 1. TIqal ST B Bis ot g
o 2. 99E B UYL (@RH)
X 3. Iyufd &1 fafe ik 3wt ufhar
X 4. Ot 3R

Question ID: 65497832442
Status : Answered
Chosen Option : 2

Q5 fmfafaa & @ fea vwreaa A Rider 2021 8 e ud &1 smae= fear?
Ans 1 fRiem HATC

X 2. ga1 HIEHH 3R T AT

X 3. i HATd

X 4. 9 UG AR HATT

Question ID : 65497832452
Status : Answered
Chosen Option : 1

Q.6 Which of the following things found at the site of Harappa, did engineers take away to
build the first railway lines in Punjab in present-day Pakistan?

Ans X 1. Doors
o 2. Bricks
X 3. Iron tracks
/< 4. Bronze beams

Question ID : 65497832447
Status : Answered
Chosen Option : 2

Q.7 s g arer fea urdy Iew @ Tafta g2
Ans o 1. TETTT

X 2. f®r

X 3. SWUSH

X 4. gRamn

Question ID : 65497832437
Status : Answered
Chosen Option : 1
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Q.8 3R YST 2020’ f7 A WafRra &:

Ans X 1. Than QWM 9 Igd SR F91d S
o 2. TRt rRrel & et BrRars
7< 3. COVID-19 (@R & fow J=fi=
X 4. 3dpare & AdTs 49 Hrars

Question ID : 65497832443
Status : Answered
Chosen Option : 1

Q.9 ﬁtrmaﬁ?ﬁtnz{manaﬁ BT HEPd § YT YT & 3aTg He & forg

uRIE gl

Ans 7 1 IHIEO
X 2. amgA
X 3. w3
X 4. HRTHRA

Question ID: 65497832439
Status : Answered
Chosen Option : 1

Q.10 fmfafEd & & H19 T arfior ofikaRY $) y™er BT TR ueH T8 a1 82
Ans X 1. &g umdior §%

X 2. PN FORY

X 3. GgHRI FHUT Wittt

o« 4. fo T

Question ID : 65497832444
Status : Answered
Chosen Option : 4

Q.11 Which of the following is a night blooming flower?
Ans X 1. Gazania daisy

¥ 2. Angel's trumpet
25 3. Jamaican feverplant

25 4. Venice mallow

Question ID : 65497832429
Status : Answered
Chosen Option : 1

Q.12 fFgfif@d & d o9 91 39 Tad 872
Ans 1. DD ISR - Tl

X 2. B IS - 3 H

2 3. ToTUfd 7o - sffsRm

X 4. VIS ST - TR

Question ID : 65497832450
Status : Answered
Chosen Option : 1
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Q.13 ST fob Fefta aeie 2020 A DY f3rar man B, 3afdes arel 9 @l 3 Riw e BT wR
Rumuam RadHFFudz b P AR BT 3741 fban o wpar 21

Ans . #1 1579
X 2,579
X 327
X 4,257

Question ID : 65497832445
Status : Answered
Chosen Option : 3

Q.14 Fufafed & & on 74 #1 v were T4 w19 9 82
Ans X 1. yoftar

X 2.

X 3. H T

o 4. TICYH

Question ID: 65497832446
Status : Answered
Chosen Option : 4

Q.15 According to ‘India State of Forest Report 2019’, which of the following states of India
has the maximum amount of forest covered area?

Ans X 1. Andhra Pradesh
< 2. Nagaland
4" 3. Madhya Pradesh

X 4. Assam
Question ID : 65497832441
Status : Answered
Chosen Option : 1
Q.16 The prize money for the Award was increased from the previous amount of

¥7.5 lakhs to %25 lakhs in 2020.
Ans  # 1. Rajiv Gandhi Khel Ratna

25 2. Dronacharya (Lifetime)
X 3. Dronacharya (Regular)
25 4. Arjuna

Question ID : 65497832448
Status : Answered
Chosen Option : 1

Q.17 Who among the following won the Linz Open Tennis Singles title for 20207
Ans X 1. Sofia Kenin

X 2. Serena Williams
" 3. Aryna Sabalenka
/4. Elise Martens

Question ID : 65497832440
Status : Answered
Chosen Option : 3
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Q.18 I Sita) ) =1 BT SraT @ &Y Ry Hafedt b1 o= 23 &2
Ans X 1. fawusasia (frRmRa)

o 2. SRS (fafamRa)
X 3. 389 (3NfauRw)
X 4. ISR (fafafau=w)

Question ID : 65497832433
Status : Answered
Chosen Option : 2

Q.19 Fafif@d & @ o AfdT Hfrefen win g Slielne e & aa® 82
Ans 1 TR G

X 2. foga SaH

X 3. 3ffa uea

X 4. faddid g™

Question ID : 65497832431
Status : Answered
Chosen Option : 1

Q.20 Who is the winner of World Games Athlete of the Year Award 20197
Ans X 1. Savita Poonia

2 2. Ritu Rani
4" 3. Rani Rampal
X 4. Jaspreet Kaur

Question ID : 65497832432
Status : Answered
Chosen Option : 3

Q.21 FqeR 2020 H, HRT AT 2 591 77 ForS Uy 3=l T &=y g STIE
JUITR 31 S SIARRTPTA W WS (IMO) gRT fayaardt ¥t Afdrwr womedt
(WWRNS) & T HRT & =0 § AT-0aT U 2 |

Ans X 1. "fedr
X 2.
o 3. TN
X 4.331

Question ID : 65497832435
Status : Answered
Chosen Option : 3

Q.22 3ifRre aRifra 9T wiat AT gidT & S8t Afeal iR STaurTelf & Wi urt
4 HERITRI & @R Tt &1 fryor giar 21

Ans 1. BT (TYSR)
X 2.3=
X 3. g=aH

X 4.7

Question ID : 65497832438
Status : Answered
Chosen Option : 2
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Q.23 fgfafEd & | fra YR RaRares 3R v whas A 20 f rarsd) @1 gesma &, te
Tpa- yomelt sl #t iR URdg SuneTgiv #1 Tt wurelt & aifea faar wit fos
g TfA® WRT A S gt I A2

Ans 2 1 fIW TREU YTadS
X 2. RgrREA
X 3. mfede ga
X 4. gl fqamd sieft @

Question ID : 65497832428
Status : Answered
Chosen Option : 4

Q.24 In which of the following cities is the head office of SEBI located?
Ans X 1. Gandhinagar

« 2. Mumbai
< 3. Chandigarh
X 4. New Delhi

Question ID : 65497832436
Status : Answered
Chosen Option :'2

Q.25 yrd & fafira smr aren ufady siftfeam o o @ fomar mar At
Ans X 1.2020

o 2.2019
X 3.2021
X 4.2018

Question ID : 65497832451
Status : Answered
Chosen Option : 2

Section : Part C Elementary Mathematics

Q.1  Hari bought two articles A and B for a total of ¥1.250. He sold A at a loss of 20% and B at a profit of 15%. If the selling
price of B was ¥75 less than two times that of A, then the cost price (in %) of A was:

Ans X' 1. 650
+ 2. 550
X 3. 600
X 4. 525

Question ID : 65497832474
Status : Answered
Chosen Option : 2
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Q.2 A man borrows 13,000 to be paid back with the compound interest at a rate of 8% per annum compounded annually by

the end of 2 years in two equal yearly instalments. How much will each instalment be?

Ans X1 7.500

X2 ¥7,725
3. $7,290
X4 37,250
Question ID : 65497832470
Status : Answered
Chosen Option : 3
Q.3 11

2 ogloel a4t 32 ;
The value of -+ 3,0f 7 —1 51><£1-?+5 is equal to:

Ans
vl
T
x2 2
¥
xs 2
7
x4 2
7

Question ID : 65497832459
Status : Answered
Chosen Option : 1

Q4 Express the given fraction percentage as a ratio in the lowest term.

Dy
17

Ans X 1.:%:6F
+ 2 3:68
X3 68:3
X4 3:57

Question ID : 65497832464
Status : Answered
Chosen Option : 2

Q.5 Mrs. Gupta invested a sum of 250,000 in fixed deposit for | vear at the rate of 8% per annum compound interest
compounded semi-annually. What amount will she get on maturity of the fixed deposit?

Ans X 1. 358,000
X 2. 254,000
« 3 754,080
X 4. 350,416

Question ID : 65497832456
Status : Answered
Chosen Option : 3
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Ans  X'1. 85 km'h
X 2. 95 km'h
X 3. 105 km'h
4 135 km'h

the car is (rounded off to the nearest integer):

Q.6 Atrain can ravel 50% faster than a car. Both start from point A at the same time and reach point B, 81 kms away from
A, at the same time. On the way, however, the train lost about 12 minutes while stopping at the stations. The speed of

Question ID : 65497832466
Status : Answered
Chosen Option : 4

Ans 1. 729
X2 827
X 3. 843
X4 972

Q.7 Find the number of lead balls, each 2 em in diameter, which can be made from a sphere of 18 em of diameter.

Question ID : 65497832471
Status : Answered
Chosen Option : 1

Ans X 1. 45
X2 35
X 3. 50
4 60

cycle in 4 hours, if he rides the electric cycle at 3 of the speed of the scooter?

Q.8 Aman covered a distance of 245 km in 7 hours on a scooter. How much distance (in km) can be covered on a electric

Question ID : 65497832460
Status : Answered
Chosen Option : 4

Ans 1. 84
X2 42
X3 98
X4 56

Q.9  Three numbers are in the ratio 4 : 3 7 and their HCF is 6. What is the sum of the three numbers?

Question ID : 65497832453
Status : Answered
Chosen Option : 1
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Q.10 Two pipes A and B can empty a full tank in 10 minutes and 15 minutes, respectively, whereas pipe C alone can fill the
same (empty) tank in 12 minutes. When the tank is full, A and B are opened for 4 minutes and then only pipe A is

closed, and C is opened instantly (with B). How much time (in minutes) will it take now to fill the tank completely?
Ans X 1. 20
o 2. 40
X3 25
X4 30

Question ID : 65497832477
Status : Answered
Chosen Option : 2

Q.11 Three numbers are such that the first number is 30% more than the third number and the second number is 40% less
than the third number. What is the ratio of the first number to the sum of the first number and the second number?

Ans e E
19

Xz.%
X33
x4.%

Question ID : 65497832455
Status : Answered
Chosen Option : 1

Q.12 The average marks of 100 students in a class were 80. The average marks of the top 15 students and the bottom 15

students in the merit list were 84 and 74, respectively. Find the average marks of the remaining students (correct to two
decimal places).

Ans  X'1. 79.43
X2 8242
X3 7042
« 4 80.43

Question ID : 65497832462
Status : Answered
Chosen Option : 4

Q.13 The simple interest on a certain sum of money for three and a half years at 10% per anmim is 255 less than the simple
interest on the same sum for four and a half years at 9% per annum. What is the sum?

Ans X 1. 3407.40
X 2. 3975
« 3. 21,000
X 4. 3500

Question ID : 65497832458
Status : Answered
Chosen Option : 3

Download More Papers From www.GovtJobsAlert.In




Download More Papers From www.GovtJobsAlert.In

Ans

X106
X235
X3 7
4 4

Q.14 There is a discount of 12.5% on 6 shirts marked at T8.400. How many shirts can be bought with ¥4,9007

Question ID : 65497832461
Status : Answered
Chosen Option : 4

Ans

« 1. 11.11%
X2 12.11%
X3 9.11%
X 4. 10%

Q.15 The price of a sweater was slashed from 1422 to T1264 by a shopkeeper in the winter season. Find the rate of discount

given by him (correct to two decimal places).

Question ID : 65497832463
Status : Answered
Chosen Option : 1

Ans

the fourth year is T86.40, then its price (in T) at the end of the second year is:
+ 1. 360
X2 420
X 3. 350
X 4400

Q.16 The price of an article increases by 20% every year. If the difference between its price at the end of the third and that of

Question ID : 65497832473
Status : Answered
Chosen Option : 1

Q17

Ans

The average of nine numbers is 20.6. The average of three of them is 26.1, while the average of another three of these

numbers is 15.2. What is the average of the remaining three numbers?
X1 21.5

« 2. 20.5

X 3. 35.75

X4 21

Question ID : 65497832454
Status : Answered
Chosen Option : 2

Ans

Q.18 A shopkeeper bought two pairs of shoes at the same price and sold one pair at a profit of 15% and the other pair at a loss

of 5%. If the difference between their selling prices is 140, then how much profit did he earn in the whole transaction?

X 13210
X2 335
« 3. 270
x4 37

Question ID : 65497832457
Status : Answered
Chosen Option : 3
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(Take w = =)

Ans 1. 8800 m?
X 2. 4800 m?
2 3. 8000 m?
X 4. 4000 m?

Q.19 How much maximum water can be poured into an empty cylindrical tank having the depth of 7 m and radius of 20 m?

Question ID : 65497832468
Status : Answered
Chosen Option : 1

Ans 1. 36,400
X 2. 37,900
X 3. 39,000
X 4. 37,500

Q.20 The ratio of X’s and Y’s incomes in the last year was 4 : 5. The ratio of their own incomes of the last year to those of
this yearis 3 : 4 and 2 : 3, respectively. If the sum of their present incomes is T15,400, what is the present income of X?

Question ID : 65497832469
Status : Answered
Chosen Option : 1

Ans & 1. 35 and 40
X225 and 30
X 3. 30 and 35
X 4. 40 and 45

Q21 1fthe HCF of 273, 312 and 351 is x . then x lies between:

Question ID : 65497832472
Status : Answered
Chosen Option : 1

Ans X 1. 3280.45
X 2. ¥265.40
X3 ¥291.50
4 3271.56

Q.22 By selling an article for ¥210.80, a man loses 15%. To gain 9.5%, he should sell it for:

Question ID : 65497832476
Status : Answered
Chosen Option : 4
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Q.23 3w &, W SH W F FL FA Y, F 99 ©F F F 24 h F G G §, b T3 T F Faer
8 h aF & FF FIr &) IFF TG, TE ST I W FE FT ¢ F I AT I A 9 h F ;W W TwAr
T ofE T F v At # § % w9 Q@ F E, O 30 FF W HA H 50 F Fhad h F
AT FRET?

Ans X142
X2 10
vs 14
X4 16

Question ID : 65497832465
Status : Answered
Chosen Option : 3

Q24 1£0.25: x::5: 6, then x is equal to:

Ans X' 1. (1.0
2 0.3
X313
X406

Question ID : 65497832467
Status : Answered
Chosen Option : 2

Q.25 Thevalueof 60 +~ 16 x 2-[76 +~ 50f 19-15 + 8 X (21—25)- 3] = 53 is:
Ans 4
X1 6—

15
; 7
X2 3—

10

o 3. 7
3

2

X4 4=
a5

Question ID : 65497832475
Status : Answered
Chosen Option : 3

Section : Part D English

Q.1 Select the correctly spelt word.
Ans  # 1. Vigorously

X 2. Carying
X 3. Metalic
2 4. Crystalisation

Question ID : 65497832485
Status : Answered
Chosen Option : 1
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Q.2 Select the most appropriate meaning of the given idiom.
Full steam ahead

Ans X 1. Move very noisily

2. Make a train journey

2% 3. Miss the train before reaching

¥ 4. Move onward with determination

Question ID : 65497832487
Status : Answered
Chosen Option : 4

Q.3 Select the most appropriate ANTONYM of the given word.
Assuage
Ans X 1.Decrease
& 2. Relieve
25 3. Soothe
" 4. Provoke

Question ID : 65497832490
Status : Answered
Chosen Option : 4

Q.4 Select the option that is closest in meaning to the underlined idiom/phrase in the given
sentence.

Please cut down on your expenses now or you will face difficulties in the future.

Ans X 1.recover
X 2. raise
& 3. refuse
" 4. reduce

Question ID : 65497832492
Status : Answered
Chosen Option : 4

Q.5 Select the option that can be used as a one-word substitute for the given group of
words.

A place where antiques are kept
Ans o 1. Museum

& 2. Hangar
5 3. Resort
X 4. Orphanage

Question ID : 65497832486
Status : Answered
Chosen Option : 1
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Q.6 Select the INCORRECTLY spelt word.
Ans X 1.Palace

X 2. Paint
+«" 3. Pecket
X 4. Peddle

Question ID : 65497832479
Status : Answered
Chosen Option : 3

Q.7 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

No sooner he had returned home then he saw the letter lying on the table.
Ans X 1.had he returned home when

< 2. No substitution required
3. he returned home than

4" 4. had he returned home than

Question ID : 65497832491
Status : Answered
Chosen Option : 4

Q.8 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

God is great / and we could / be grateful to him for all the gifts / he has bestowed on
us.

Ans X 1. he has bestowed on us
X 2. God is great
" 3. and we could

X 4. be grateful to him for all the gifts

Question ID : 65497832482
Status : Answered
Chosen Option : 3

Q.9 Select the most appropriate SYNONYM of the given word.
Wily
Ans X 1.Frank
& 2. Crafty
2 3. Friendly
5 4. Honest

Question ID : 65497832496
Status : Answered
Chosen Option : 2
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Q.10 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Peter said / then / he was / feeling unwell.
Ans X 1. Peter said

X 2. feeling unwell
X 3. he was
o 4.then

Question ID : 65497832495
Status : Answered
Chosen Option : 4

Q.11 Select the option that can be used as a one-word substitute for the given group of
words.

Person who is not an expert in a field of art or music
Ans X 1. Pariah

«" 2. Amateur
& 3. Patron
25 4. Eccentric

Question ID : 65497832484
Status : Answered
Chosen Option : 2

Q.12 Select the most appropriate ANTONYM of the given word.
Certainty
Ans X 1. Unreasonable
#< 2. Prolong
¥ 3. Doubt
< 4. Divulge

Question ID : 65497832483
Status : Answered
Chosen Option : 3

Q.13 Select the most appropriate synonym of the given word.

Enormous
Ans  # 1. Massive
75 2. Expensive
& 3. Limited
2 4. Ordinary

Question ID : 65497832489
Status : Answered
Chosen Option : 1
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Q.14 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement required'.

Not only did he run away from home, but also stole the money.
Ans X 1. He only did not run

#< 2. Only he did not ran
& 3. Not only did he ran

" 4. No improvement required

Question ID : 65497832494
Status : Answered
Chosen Option : 4

Q.15 Select the most appropriate option to fill in the blank.

Look at the hippo
Ans X 1.crackling

about happily in the river.

#< 2. stammering
X 3. sputtering
«” 4. splashing

Question ID 65497832480
Status : Answered
Chosen Option : 4

Q.16 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

They have decorated their house nicely, didn’t they?
Ans X 1. No substitution required
& 2. have they
25 3. did they
+«" 4. haven't they

Question ID : 65497832478
Status : Answered
Chosen Option : 4

Q.17 The following sentence has been divided into parts. One of them contains an error.
Select the part that contains the error from the given options.

We forgot / to wish Susan /in her birthday / this year.
Ans X 1.to wish Susan

< 2. We forgot
+" 3. in her birthday
5 4. this year

Question ID : 65497832488
Status : Answered
Chosen Option : 3
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Q.18 Select the most appropriate option to fill in the blank.

In the year 1973, there were only 9 tiger reserves, but the number has risen to
fifty.

Ans X 1. consequently
" 2. gradually
< 3. adamantly
25 4. technically

Question ID : 65497832481
Status : Answered
Chosen Option : 2

Q.19 Select the option that can be used as a one-word substitute for the given group of
words.

Dwarf varieties of trees and shrubs grown in pots
Ans X 1.Shrimp

& 2. Pygmy
4" 3. Bonsai
& 4.Bonanza

Question ID : 65497832497
Status : Answered
Chosen Option : 2

Q.20 Select the most appropriate option to fill in the blank.

The child that he had broken the vase.
Ans X 1. collected

25 2. demanded
¥ 3. admitted
X 4. requested

Question ID : 65497832493
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Once there were two brothers. One brother was (1) poor farmer. He worked in the
fields, and (2) the weather was bad, he (3) no food. But he was kind and
worked a (4) . The other brother was a rich man (5) worked on a ship. He was
not kind and often cheated people.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank no. 1.
Ans 1.2

25 2. simply
5 3. the
< 4. only

Question ID : 65497832499
Status : Answered
Chosen Option : 1
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Q.22
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Once there were two brothers. One brother was (1) poor farmer. He worked in the
fields, and (2) the weather was bad, he (3) no food. But he was kind and
worked a (4) . The other brother was a rich man (5) worked on a ship. He was
not kind and often cheated people.

SubQuestion No : 22
Select the most appropriate option to fill in blank no. 2.
«” 1. when

% 2. what
< 3. after
X 4. while

Question ID : 65497832500
Status : Answered
Chosen Option : 4

Q.23
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Once there were two brothers. One brother was (1) poor farmer. He worked in the
fields, and (2) the weather was bad, he (3) no food. But he was kind and
worked a (4) . The other brother was a rich man (5) worked on a ship. He was

not kind and often cheated people.

SubQuestion No : 23
Select the most appropriate option to fill in blank no. 3.
& 1. will have

«” 2. had
#< 3. may have
& 4. has

Question ID : 65497832501
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Once there were two brothers. One brother was (1) poor farmer. He worked in the
fields, and (2) the weather was bad, he (3) no food. But he was kind and
worked a (4) . The other brother was a rich man (5) worked on a ship. He was

not kind and often cheated people.

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank no. 4.

Ans

X 1.lots
< 2. much

5 3. hard
o 4. lot

Question ID : 65497832502
Status : Answered
Chosen Option : 4

Download More Papers From www.GovtJobsAlert.In




Download More Papers From www.GovtJobsAlert.In

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Once there were two brothers. One brother was (1) poor farmer. He worked in the
fields, and (2) the weather was bad, he (3) no food. But he was kind and
worked a (4) . The other brother was a rich man (5) worked on a ship. He was
not kind and often cheated people.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank no. 5.

Ans

< 1. that

& 2. who
< 3. which

#< 4. whom

Question ID : 65497832503
Status : Answered
Chosen Option : 2

Section : Part D Hindi

Q1

Ans

PITHT Ieg AT BT AT Weg 781 872
X 1. %1
o 2. 84
X 3.®m
X 4. TP

Question ID : 65497832507
Status : Not Answered
Chosen Option : --

Q.2

Ans

FHRE’ BT A Weg gRTI-
X199

X 2.vg

v 3. faga

X 4.3799

Question ID : 65497832522
Status : Not Answered
Chosen Option : --

Q3

Ans

o = #Y R F T Tad Iuga g B 99T B
g sRIwdmgarsl

X 1.99

X 2. 3R

X 3.9%

o 4. ST

Question ID : 65497832518
Status : Not Answered
Chosen Option : --
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Q.4 f3u Y gty W Y@ifed TS i ufawiTiud 34 ¥ e gaw Suged fawen &1 aa- o8|
u%sﬁu;gwﬁamﬁaﬁsmﬁrﬂﬁ%,ﬁﬁmﬁnﬁwaﬁmﬂﬁ%’
BT TG B}

wrarf 3 FUS! TS B S URYH HE 98 B R
Ans 1. TraTd 7 BH gEEm e
X 2. Jad 3 gHB! qHI
2 3. U 3 g gHgmar o
X 4. T3 9gag &t snaxadmdr T8l 81

Question ID : 65497832514
Status : Not Answered
Chosen Option : --

Qs %gnqammagmmﬁﬁ\qﬁaﬁézﬁ%mﬁﬁzﬁﬂﬁ%ﬂﬁzﬁﬂﬁ%
|

N W & RIT (1) 9= 78 7 (2)/ A1 91T (3) S e T ()
Ans X 1.2
X 2.4
X 3.3
o 41

Question ID : 65497832506
Status : Not Answered
Chosen Option : --

Q.6 fag g Treg 31 faew gfgl

qhH

Ans X 1 faum
X 2. %oM
o 3. T
X 4. wd®

Question ID : 65497832509
Status : Not Answered
Chosen Option : --

Q7 afigs Yy ggrar &1 3 Fargtl
Ans X 1. S Y ARA & YHB!

X 2. 3UeE BT
o 3. 3T YT
X 4. 491 & BT TN

Question ID : 65497832512
Status : Not Answered
Chosen Option : --
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Q.8 U fo@[ & +U § g arar I F forg T Treg BN
Ans 1. 3TEIRG

X 2. 3FTEIR®

X 3. I

7 4. AABIRS

Question ID : 65497832523
Status : Not Answered
Chosen Option : --

Q9 it fad 9 Al A g arrI & T U reg gh-
Ans X 1.3g

X 2.3/

X 3.7

o 4. 3T

Question ID : 65497832517
Status : Not Answered
Chosen Option : --

Q.10 FE} Tei=it aTel Yeg BT TAT BIOE|
Ans X 1. TR0

X 2. ufadA

o 3. TRlopRUl

X 4. TR

Question ID : 65497832504
Status : Not Answered
Chosen Option : --

Q.11 Tt gd- I Teg BT T BRI
Ans X 1. d@ldl®

X 2. ahalid
o 3. ATHIADH
X 4. TPIAH

Question ID : 65497832505
Status : Not Answered
Chosen Option : --

Q.12 guyr fHae wigar 32
Ans X1 dgHl

X 2.9t

X 3w

o 4. 3

Question ID : 65497832520
Status : Not Answered
Chosen Option : --
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Ans

Q.13 33 T a9 & frg wm A R B2
79 1A Bt srazamar TE B

o 1. SIS
X 2. T
X 3.7TE 3
X493

Question ID : 65497832519
Status : Not Answered
Chosen Option : --

Ans

Q.14 ¥ RIM WA & g wad Iuga Weg o1 797 Y|
gPH I gl foral frets il

KW
o 2. T8
X 3. |
A 4.0 d

Question ID : 65497832511
Status : Not Answered
Chosen Option : --

Ans

Q.15 R i are ® fred-RIM WA & 1T 9ed Sugad g &1 99 B |
sl PR aw®r__ Fiia s wran

X 1. i
X 2. fomfem
X 3w
o 4. RTfm

Question ID : 65497832516
Status : Not Answered
Chosen Option : --

Ans

Q.16 33 T iz & fore ue 2reg v |
forae faarg T gen gt

o 1. SR
X 2. faert
X 3. 3fRad
X 4. 3uRuE

Question ID : 65497832513
Status : Not Answered
Chosen Option : --
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Q.17 3w 7Y arerr § ¥@ifrd WS Y ulaitiua 34 & fore aaw Suged ey &1 9a7 o8|
e 39 vfownfa w7 $Y sraxadar 78 2, @ faw et agaa #f smazasar T8 @
T TIT B
IAPT HTS Ahedt M g3 81
Ans X 1. Qe WaTS
X 2. 5 gear # srazadhar el B
X 3. Ipdame
o 4. PR

Question ID : 65497832515
Status : Not Answered
Chosen Option : --

Q.18 3w 7Y aTeRy § ¥Wifrd WS B UlaiTiua w34 & fore aw Sugad ey &1 aa o8|
mﬁwwﬁwﬁ%,ﬁﬁm‘wwﬁmﬂﬁ%’
BT 99 B}

MM I B = @i
Ans g1 Y
X 2. MBI
X 3. 3mA
X 4. 5 9eara F sravasar TE R

Question ID : 65497832508
Status : Not Answered

Chosen Option : --

Q.19 ﬁaﬁ%@awﬁ,ﬁqwaﬁﬁmﬁﬁwﬁmwmﬁ,ﬁﬁﬁ%maﬁm
Far gl
Il T qEAT
Ans X1-WW
o 2. Ufdma et
X 3. T 3T S5l g3 gust At § e o
< 4. T I §8 ST

Question ID : 65497832510
Status : Not Answered

Chosen Option : --

Q.20 &3 T a1y & fpa T & Ffe 32
wra: Wt AT 59 a1 B e qHe g1
Ans X1.ggdd
X 2. el
X 3. qHEd &l
o 4.7 Tt A

Question ID : 65497832521
Status : Not Answered
Chosen Option : --
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Q.21

Ans

Comprehension:

TP ATt BT T WIS U I8 BT 8, 5Td P13, ST ST HTST & BISH GuRl Bl
1) T ITAT A § 3R I H JIAH B AT TRH (2) A @ 81 T8

3) BT TRIHTST B, TN S Wi 7Ot HToT F &Y Trercht, Sroeit HTo 7 ST g et
foradll, aroeit Hre # 3rge 2 B (4) Tt B, T8 U TR F Fe ST 8, S0
(5) B G T34l § SR TP WA BT TS {311 81 o1 71

g gsil & ITR I T & SMYR W ST

SubQuestion No : 21

eI & R | (1) & Rie gaffie Suged wreg ghm-
o 1. U
& 2.3
X 3.2k

X 4.Far

Question ID : 65497832525
Status : Not Answered
Chosen Option : --

Ans

Comprehension:

FRpiae T &1 T8 YT U I8 81 8, STd BI5 Sfifd ST HIN ) BISHR Gl Bl
™) T STAT A § TR I T qAAH B AT TRH (2) A T 31 T8

3) & TRIBTET B, Fifep ST Sfey SO {TeT H 72T Frerett, ot W § 3701 e et
foradll, Sroeit yren F 3o e &1 (4) Tt B, T8 ST RIRT V Fe S 8, SO
(5) B W Jod! € 3R IYP WIHHH BT U=is [T 81 ST 21

g usll & ITR I T & SR W ST

SubQuestion No : 22

Q.22 ey F e R (2) ¥ fore waifie Suged wree ghm-

X 1w
 2.7Ra
75 3. 9HS
X 4. 3fyEE

Question ID : 65497832526
Status : Not Answered
Chosen Option : --

Comprehension:

TR TATH T R Y TG a8 BIdT B, T BIS ST AT T BT BIGHR gal I
1) DT SOAT T § SR B T JAAH DY ST TRH (2) A W 31 T8

(@) DI IRIPIF 8, Fiifep S Sty ot yrem & Y Trercht, o=t e § S0 Wi et
foraelt, st Hron & 3ruer s Bl (4) TET R, Ig SO+ TRORT | Fe A1t B, S

(5) P G 934 g 3R ISP WA BT U=is 371 8 ST g
g sl & IR IR T & YR WR T

SubQuestion No : 23

Q.23 Ty & fYad ' (3) & fore waife Suged s 8-
Ans 1 TErHl

X 2. Wl
X 3. 3T}
X 4. T

Question ID : 65497832527
Status : Not Answered
Chosen Option : --
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Comprehension:

YR T 1 G WD Y I8 BT 2, T BIS SN AT U T BISPR ol Bl
™) DT ST A § 3R I T JIAH B AT TRH (2) A T 31 T8

@ BRI S, Fife S S SO Hren H T Gieht, Sy 7 o afee et
forach, oot o H S G wrRf (4) S R, 98 S1UR URORT ¥ e St §, 3o
(5) DI Tl Jodt 7 AR ITP W HT U=S 1= 8 S g

49 Uil & IR SIS TR & YR W Ao
SubQuestion No : 24
Q.24 Ty 3 e I (4) & R waifie Suged e gh-
Ans o 1. Fuifed
X 2. 3ifiyeged
X 3.
X 4.7d

Question ID : 65497832528
Status : Not Answered
Chosen Option : --

Comprehension:

GRPTI T BT G W U T8 BIT 3, ST BIS ST ST+ HTH B SISTHR Gl 1
Q) B AT Al & TR I H JAaH Bl SO TRH (2) A T 81 T8

3) P IRIBTYT B, T oY St St HIwT & e Qrereht, 3ot wiwn & 3o wifee =gt
feraht, 3ot wron B 30T e BT (4) T Pelt, T8 ST TR A Fe A 7, O
(5) B T 5! § 3R ITP WM BT Uds 37 8 S g1

79 Uil & IR SIS TR & YR W o
SubQuestion No : 25
Q.25 e & fyad R (5) ¥ forg waifie Suge e ghm-
Ans X 1. g
X239
o 3. Aldaa
X 4. fowm

Question ID : 65497832529

Status : Not Answered

Chosen Option : --
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